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i =20
for n in range(1l, 100):
if n% 2 == 0:

i=1+1
print(1i)
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X.

X[J]=1.upper()
J+=1
print |(x)
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~ thisdict = {
- "brand™: "Ford", "model": "Mustang’,
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\v% dict2 = thisdict

¥1% mydict = thisdict.copy()
X

\v% mydict = dict(thisdict)
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| x=[ ' ab ! . ' Cd ' ]

- for 1 1in Xx:

1.upper()
print (x)
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* in {"Too’% 1, °
print(1)
print(2)
if 'a’ iIn "qux’:
print(3)
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YU A
= (3.8, 9, 165, 25)
irst = x[1]
Past = %[5]
print("first: ", first, "last: ", last)

O B:
= [1, 4, 9, 16, 25]
irst = x[@]
last = x[4]
rint(“first: ", first, "last: ", last)

[ €

x = [1, 4, 9, 16, 25]

first = x[@]

last = x[-1]

print("first: *, first, "last: ", last)
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O

= [1, 4, 9, 16, 25]

irst = x[1]

last = x[-1]

print("first: ", first, “"last: ", last)
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X = lambda a:a+ 10
print(x(5))
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"abcdet’

print(1i, end=" ")
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or num in range(1, 5):

print(num)

q L} oy 43S § el alaS >gy3
© 493 13:10 o Lilyg

AU Jlgws gla auis

ol 503




Inction(*kids):

The youngest child 1s

+|

on("Ali", "Reza", "Ahmad"|
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\0% Reza

Y% Ahmad
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X =0
while x < 10:
X=X+ 1
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" def outer fun(a, b):

def inner fun(c, d):
return ¢ + d

return inner_fun(a, b)

res = outer_ fun(5, 10)
print(res)
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for 1 in

for j in range(-1, -10, -1):
X += 1

print(x)
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det add(a b):
J ' "-.-'_I' ,Ir .I'I
e _.__.‘_.-:--r.- \

return a+5, b+5

result = add(3, 2) (=)
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" a=[0,1,2,3]
for a[-1] 1n a:
print(al-1])
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 def recursion(k):

iT{Kk > 9):
result = k + recursion(k - 1)
else:
result = ©
return result
print(recursion(5))
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